

Vasantrao Naik Marathwada Agricultural University, Parbhani

वसंतराव नाईक मराठवाडा कृषि विद्यापीठ, परभणी

STATEMENT SHOWING THE DETAILS OF THE VARIOUS COURSES COMPLETED BY THE STUDENT

GRADE CARD

INSTITU	TE: College of Agril. Engg. & Technology, Parbhani	SEMESTER NO. : I
DEGREE	: B.Tech.(Agril, Engg.)	ACADEMIC YEAR : 2021 - 2022
NAME	: MR. TIKATE VISHWAJEET GOU	REG. NO. : 2020AEPB056

SR.NO	COURSE NO TITLE OF THE COURSE		CREDITS	GRADE	CREDIT	
3	BS-MATH-111	Engineering Mathematics-I	3	9.1	27.3	
2	BS-PHY-111	Engineering Physics	- 2	8.9	17.8	
3	BS-COMP-111	Computer Programming and Data Structures	2	8.3	16.6	
4	AS-SS-111	Principals of Soil Science	2	8.4	16.8	
5	FMPE-111	Engineering Drawing	2	9.7	19,4	
6	FMPE-112	Workshop Practice	1	8.6	8.6	
7	PFE-111	Thermodynamics	2	8.3	16.6	
8	REE-111	Engineering Chemistry	2	9.0	18,0	
9	FS-111	Engineering Mechanics	3	9.1	27.3	
10	AS-EXTN-111	Communication Skill & Personality Development	2	7.2	14.4	
11	DEG-111*	Democracy, Election & Good Governance	t	7,6	PASS	
			21	1	182.8	

(R = Repeat, G = Passed by grace marks, * = Non-gradial course, ** = Remedial Course, Ex = Exemption, __ = Passed in Previous Year)

CREDITS COMPLETED	21
CREDITS POINTS	182.8
GRADE POINTS AVERAGE	8.70

Advisor

DATE: 21-1-22 .

01

Associate Dean and Principal

Assistant Professor Note : This Grade Card is useful only for scholarship purpose and should not be used for any other purpose.

CAET, VNMKV, Parbhani



Vasantrao Naik Marathwada Agricultural University, Parbhani वसंतराव नाईक मराठवाडा कृषि विद्यापीठ, परभणी

STATEMENT SHOWING THE DETAILS OF THE VARIOUS COURSES COMPLETED BY THE STUDENT

NAME DEGR INSTI	EE : B.Tech.(Agril	Engg.) AC/	3. NO. : 202 ADEMIC YEA MESTER NO	R : 2020	
SR.NO	COURSE NO	TITLE OF THE COURSE	CREDITS	GRADE	CREDIT
ĩ	BS-MATHS-122	Engineering Mathematics-II	3	9.1	27.3
2	BS-COMP-122	Web Designing and Internet Applications	2	7.5	15.0
3	AS-STAT-121	Statistical Methods in Engineering	2	7.7	15.4
4	AS-AGRO-121	Principles of Agronomy	2	9.0	18.0
5	AS-HORT-121	Principles of Horticultural Crops and Plant Protection	2	9.0	18.0
6	FMPE-123	Workshop Technology	2	8.8	17.6
7	SWCE-121	Surveying and Leveling	3	8.8	26,4
8	PFE-122	Heat and Mass Transfer	2	8.3	16.6
9	REE-122	Electrical Machines and Power Utilization	3	8.7	26.1
10	FS-122	Strength of Materials	2	7.9	15.8
п	PHYEDN-121*	Physical Education	1	8.8	PASS
12	NSS-121*	National Service Scheme	1	8.6	PASS
			23		196.2

GRADE CARD

(R = Repeat G = Passed by grace marks, * = Non-gradial course, ** = Remedial Course, Ex = Exemption, __ = Passed in Previous Year)

CREDITS COMPLETED	23
CREDITS POINTS	196.2
GRADE POINTS AVERAGE	8.53

DATE: 24/5/22

Advisor

Associate Dean & Principal College of Agilt Engan and Principal

Note : This Grade Card is useful only for scholarship purpose and should not be used for any other purpose.

CALT, VAMICY, Parbhani

Vasantrao Naik Marathwada Agricultural University, Parbhani



वसंतराव नाईक मराठवाडा कृषि विद्यापीठ, परभणी

STATEMENT SHOWING THE DETAILS OF THE VARIOUS COURSES COMPLETED BY THE STUDENT

GRADE CARD

INSTITUT	E: College of Agril. Engg. & Technology, Parbhani	SEMESTER NO. : III
DEGREE	; B.Tech.(Agril, Engg.)	ACADEMIC YEAR 2021-2022
NAME	: MR. TIKATE VISHWAJEET GOUTAM	REG NO : 2020AEPB056

SR NO	COURSE NO	TITLE OF THE COURSE	CREDITS	GRADE POINTS	CREDIT	
10	BS-MATH-233	Engineering Mathematics-III	3	7.3	21.9	
2	FMPE-234	Earm Power and Automotive Engines	2	6.9	13.8	
3	FMPE-235	Theory of Machines	2	9.6	19.2	
4	SWCE-232	Soil Mechanics	2	8.8	17.6	
5	SWCE-233	Watershed Hydrology	3	8.7	26,1	
6	HDE-231	Fluid Mechanics and Open Channel Hydraulics	.3	8.8	26.4	
7	PFE-233	Engineering Properties of Agricultural Produce	2	7.2	14.4	
8	FS-233	Theory of Structures	2	7,2	14.4	
9	AS-EXTN-231	Entrepreneurship development and Business Communication	2	8.0	16.0	
10						
			21		169.8	

(R = Repeat G = Passed by grace marks, " = Non-gradial course, " + Remedial Course, Ex = Exemption, ___ = Passed in Previous Year)

GREDITS COMPLETED	21
CREDITS POINTS	169.8
GRADE POINTS AVERAGE	8.09

Alivisor

Associate Dean and Principal

DATE: 03/10/22

Note This Grade Card is useful only for achelarable ournose and should not be used for any other purpose.

Deptt of Agril Process Engg. CAET,VNMKV,Paiphani



वसंतराव नाईक मराठवाडा कृषि विद्यापीठ, परभणी

STATEMENT SHOWING THE DETAILS OF THE VARIOUS COURSES COMPLETED BY THE STUDENT

GRADE CARD

DEGREE : B.Tech.(Agril. Engg.)		REG. NO. : 2020AEPB056 ACADEMIC YEAR : 2021 - 2022 SEMESTER NO. : IV			
SR NO	COURSE NO	TITLE OF THE COURSE	CREDITS	GRADE POINTS	CREDIT
1	BS-PHY-242	Applied Electronics and Instrumentation	2	7.7	15,4
2	FMPE-246	* Tractor Systems and Controls	2	7.7	15,4
3	FMPE-247	Machine Design	2	5.9	11.8
4	SWCE-244	Soil and Water Conservation Engineering	3	7,1	21.3
5	1DE-242	trigation Engineering	3	6.5	19.5
6	PFE-244	Post Harvest Engineering of Cereals, Pulses and O	il 3	7.3	21.9
7	REE-243	Seeds Fundamentals of Renewable Energy Sources	3	6.0	18.0
8	FS-244	Building Construction and Cost Estimation	2	8.1	16.2
0	GAE-241	In Plant Training - 1	5	8.9	44.5
	an and the second se		25		184.0

(R = Repeat G = Passed by grace marks, * = Non-gradial course, ** = Remedial Course, Ex = Exemption, __ = Passed in Previous Year)

CREDITS COMPLETED . 25 CREDITS POINTS 184.0 GRADE POINTS AVERAGE 7.36

s cippose

DATE

Assistate Boofessor Deptt of Agril Process Engg CAET.VNMKV.Parbhani As Associate Dean and Principal College of Agri Engg



Vasantrao Naik Marathwada Agricultural University, Parbhani

वसंतराव नाईक मराठवाडा कृषि विद्यापीठ, परभणी

STATEMENT SHOWING THE DETAILS OF THE VARIOUS COURSES COMPLETED BY THE STUDENT

GRADE CARD

DEGREE : B.Tech.(Agril. Engg.) ACAE		G NO : 2020AEP8056 ADEMIC YEAR : 2022 - 2023 MESTER NO : V			
SR NO	COURSE NO	TITLE OF THE COURSE	CREDITS	GRADE	CREDIT
1	FMPE-358	Farm Machinery and Equipment-I	2	8.5	17.0
2	FMPE-359	CAD Applications	Ē	6.0	6.0
3	FMPE-3510	Field Operation and maintenance of Titactor and Farm Machinery	1	8.0	8.0
4	SWCE-355	Water Harvesting and Soil Conservation Structures	3	6.9	20.7
5	IDE-353	Groundwater, Wells and Pumps	3	6.8	20.4
6	IDE-354	Drainage Engineering	3	8.3	24,9
7	PFE-355	Dairy and Food Engineering	3	7.7	23.1
8	REE-354	Renewable Power Sources	3	8.6	25.8
9	FS-355	Agricultural Structures, Storage Engineering and Environmental Control	3	7.5	22.5
	No. Contraction	riks, * = Non-grathal course, ** = Remedial Course, Ex = Exemp	22		168.4

CREDITS COMPLETED 22 CREDITS POINTS 168.4 GRADE POINTS AVERAGE 7.65

DATE :

Assistadvisor fessor Dept. of Agril, Process Engg. CETVNMKV, Parbhani

Associate Dean & Principal College of Agentand Principal VNMKV Parbhani

SECONDARY SCHOOL	CERTIFICATI	УНІЧЧ E EXAM		TATEM	IENT OF MARKS
आसन क्रमांक केंद्र क्रमांक SEAT NO. CENTRE NO.	জিল্हা ব স্থার্জ DIST. & SCHO		परीक्षेचा महिना MONTH & YEAR O	20000000000000000000000000000000000000	गुणपत्रिकेचा अनुक्रमांक SR. NO. OF STATEMENT
L038370 4201	62.10.09	9	MARCH-2	018	118023
उमेदवाराच्या आईचे नाव / C ायावा सांकेतिक क्रमांक व विषयाचे नाव bject Code No. and Subject Name	ANDIDATE'S M	AOTHER' कमाल गुण Max. Marks		Ani त श्रेणी / Ma	ta arks or Grade Obtained अक्षरास / In Words
ENGLISH (1ST LANG)		100	073	SEVE	NTYTHREE
MARATHI (2/3 LANG)		100	073	SEVE	NTYTHREE
HINDI (2/3 LANG)		100	090	NINE	TY
MATHEMATICS		100	095	NINE	TYFIVE
SCIENCE & TECHNOLOGY		100	068	SIXTY	/EIGHT
SOCIAL SCIENCES		100	070	SEVE	NTY
DECORATIVE PIECES FROM	WASTE	*	A		
HEALTH & PHYSICAL EDUCA	TION	*	А		
SOCIAL SERVICE		*	A		
PERSONALITY DEVELOPME	T	*	A		
INFORMATION COMMUNICAT	ION TEC	*	В		
टक्केवारी/ Percentage 80.20	एकूण गुण / Total Marks	500	401	FOUR	HUNDRED AND
esult/निकाल PASS					

महत्त्वाचे, टीप, कार्यशिक्षण व शालेय विषयातील श्रेणी आणि चिन्हांची माहिती यांचा तपशील मागील पृष्ठावर पहावा. See overleaf for Important, Notes, Grades in work Education & School Subjects and meaning of special characters.

.



×1881

विभागीय सचिव / Divisional Secretary

otry-no.____3469

Maharashtra State Board of Secondary and Higher Secondary Education, Pune Bigher Secondary School Certificate Examination - Statement of Marks

LATUR DIVISIONAL BOARD

3459

Stream	Seat No.	Centre No.	Ir. Coll	ege No.	Month	and Year of Exam.	Sr. No. of Statement
SCIENCE	T036961	0664	A CONTRACTOR OF STATE	0.001		EBRUARY 2020	3305
CANDIDATE	S FULL NAME (SUR	NAME FIRST)		Will !!	ET GOU	and the second s	
Mother's Na	me				ANITA		1
Subject Code No. and Subject Name Max. Marks or Grade Obtained							
		2.00		Marks	In Figures	In V	Words
01 ENGLISH	1	m		100	054 .	Fifty Four	
04 HINDI				100	086	Eighty Six	
40 MATHEM	ATICS AND STATIS	TICS		100	062	Sixty Two	
54 PHYSICS		120.		100	042	Forty Two	
55 CHEMIST	RY			100	054	Fifty Four	
56 BIOLOGY				100	058	Fifty Eight	
31 ENVIRON	MENT EDUCATION	No.		050	046	Forty Six	192223048-
30 HEALTH 8	PHYSICAL EDUCA	TION (GRADE)	B				
	197		444				·
Result PASS	Percentage 61.85	Total Ma	arks	650	402	Four Hundred and	Two
See overleaf for Important, Notes, Grades in Health and Physical Education, Invironment Education and meaning of Opecial characters 6 JUL 2021				epared necked	r/ Branc by	ent!	visional Secretary